
 

 

 

 

 

 

I. LANGUAGE 

Find the word which has a different sound in the part underlined. 

1.  

A. gap  

B. generation   

C. grandparent  

D. great 

2.  

A. believe   

B. extend   

C. respect   

D. gender  

Choose the word which has a different stress pattern from the others. 

3.  

A. behave   

B. differ   

C. argue  

D. follow 

4.  

A. population   

B. operation   

C. infrastructure  

D. exhibition  

Choose the best answer A, B, C or D to complete the sentences. 

5.  Quality of life will be improved ________ the cleaner environment. 

A. thanks to   

B. because  

C. despite   

D. in spite of  

6. If people use more _______ energy, their negative impact on the environment will be decreased.  

A. limited   

B. renewable   
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C. non-renewable   

D. fossil fuel 

7. She looks _______ because he gets good grades in the final exam.  

A. unhappy   

B. happily   

C. happiness   

D. happy  

8. ______ is used for the cities that have too many people living in it.  

A. Population   

B. Overpopulated   

C. Overpopulation   

D. Popularity  

9. The volunteers design and _______ a project aiming at cleaning up some areas in their city.  

A. carry out   

B. make up   

C. get around  

D. give up  

10. Parents’ strict rules may put more _______ on teenagers. 

A. happiness   

B. problem   

C. conflict   

D. pressure  

11. Teenagers tend to be _______ and want to make their own decisions without being controlled by their 

parents.  

A. dependent   

B. independence   

C. independent   

D. dependence  

12. I think you ______ follow the doctor’s advice to keep fit.  

A. shouldn’t   

B. must   

C. should   

D. have to  

13. ________ fruit and vegetables play an important role in a healthy diet. 

A. Raw  

B. Fresh   



 

 

C. Cooked   

D. Frozen 

14. Both mental and _______ health should be taken care of carefully.  

A. body   

B. nutritious   

C. mind  

D. physical 

15. Generation gap refers ________ the difference in the ways of thinking and perception in the people of two 

different generations 

A. about   

B. at   

C. on   

D. to  

II. LISTENING 

What did these people do last weekend? Listen and choose the correct answer. 

Tải audio tại đây 

16. He _________. 

A. went dancing 

B. watched TV 

17. He _________. 

A. met a girl 

B. went to his brother’s house 

18. She _________. 

A. went to the gym 

B. entered a bodybuilding competition 

19. He _________. 

A. played with his nephews 

B. went out with a friend 

20. She _________. 

A. went to a party 

B. went to a movie 

III. READING  

Choose the word or phrase among A, B, C or D that best fits the blank space in the following passage. 

When a person (21) _______ influenced by their friends or peers to adopt a particular type of behavior, fashion 

style or attitude in order to fit in, this is peer pressure. Feeling accepted is a strong driving force for people of 

all ages, and so learning how to deal (22) ______ peer pressure - both positive and negative - is an important 
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life skill. Peer pressure is usually perceived as something negative, such as when a person feels compelled by 

their peers - whether friends or not - to do something that they don’t want to do. The teen years are the time 

when many people experiment and push boundaries, often because they want to (23) _______ their friends. 

While negative peer pressure makes a person feel unhappy, unwell, or uncomfortable, positive peer pressure 

boosts a person’s feelings of wellness and (24) _______. When individuals align themselves with positive 

people, the supportive atmosphere can lead to healthy choices. (25) ________, when friends join a club or 

sports team, or work hard to achieve good marks, it can have a positive effect on everyone in that group. 

21.  

A. remains  

B. are  

C. is  

D. smells 

22.  

A. to  

B. with   

C. of  

D. about  

23.  

A. pursue  

B. impress  

C. adapt  

D. suffer 

24.  

A. arguments   

B. conflicts   

C. anger   

D. happiness 

25.  

A. For instance   

B. However   

C. Therefore  

D. As a result 

Read the text and choose the correct answers.  

Where smart cities were once regarded purely as a vision of the future, they are now becoming a reality in 

numerous urban centres across the globe. From Dubai, Singapore, Amsterdam, Copenhagen, and Madrid to 

Southampton in the UK, we’re already beginning to see smart cities provide inhabitants with improved living 



 

 

conditions, easier mobility and cleaner, safer environments, by using cloud computing to power services. But 

as with all public sector initiatives, smart city services need to be delivered as cost effectively as possible to 

minimize the taxpayer burden. Often, key decision makers are met with obstacles when it comes to deploying 

smart services, preventing smart cities initiatives from reaching their full potential – or worse, blocking them 

altogether. 

Central to the functioning of most ‘normal’ city ecosystems is the underlying data they run on. Regardless as 

to whether that data is stored on local servers or using cloud storage, when that data is fragmented or 

incomplete, identifying emerging trends for strategic planning and cost reduction becomes extremely difficult 

– and because of this, authorities have to adopt an entirely reactive approach. Conversely, in a smart city 

environment, connected sensors forming an Internet of Things (IoT) provide valuable data for analysis and, 

in turn, insight into the specific city’s behavioral trends. With this level of information, services can be 

optimized to reduce costs and risk, increase urban flows and manage assets. Importantly, they can also provide 

real-time connections and interactions between the city’s businesses, local governments, service providers and 

citizens. 

In this way, operations and services are elevated through the integration and connections of physical devices 

via IoT networks, ultimately transforming how a city runs.  

26. Which best serves as the title for the passage? 

A. A question of data.  

B. Alignment of minds. 

C. Smart city’s supporters.  

D. The same old route. 

27. According to paragraph 1, which statement is correct about the current situation for smart cities? 

A. Smart cities promise technological convenience so high service fees are not a problem. 

B. Dubai, Amsterdam and Hampton are among the cities advancing the title of “smart”. 

C. There still exist many challenges for the institution and development of smart cities. 

D. The already successful smart city in the world were the works of policy-makers. 

28. The word “they” in paragraph 2 refers to ___________ . 

A. environments  

B. ecosystems 

C. services  

D. initiatives 

29. According to paragraph 2, what is the matter that the author wants to emphasize? 

A. Human’s urge to share information.  

B. The importance of data network. 

C. The possibilities of tech disasters.  

D. The caliber of artificial intelligence.  



 

 

30. The word “elevated” in paragraph 3 can be replaced by __________.  

A. demoted  

B. controlled  

C. dignified  

D. upgraded 

IV. WRITING 

Rewrite the following sentences, using the suggestions. 

31. We had lunch then we took a look around the shops.  

=> Before _____________________________.   

32. They didn’t know how to drive a car, but now they drive well.  

=> They didn’t __________________________. 

33. I will feel bored if Mary and Susan don’t come to the party with me.  

=> Unless ___________________________. 

34. I met you somewhere, I clearly remember that. 

=> I clearly remember _________________. 

35. Tom began playing the piano 4 years ago. 

=> Tom has __________________________. 

36. If I were you, I would stop to buy some petrol.  

=> You had better ______________________. 

37. He doesn’t finish his homework so he is punished by the teacher. 

=> If _________________________________. 

38. His farm has a lot of vegetables and fruits.  

=> There are ____________________________.  

39. My brother can’t find a job. 

=> I wish ____________________________. 

40. Toby and Tony are more generous than Tom. 

=> Tom is ______________________________ of the three boys.  

 

----- THE END ----- 

 


